
                
   
  

 
 
 
 oUL 

ϕ1 ϕ6 ϕ0 = 160° 
ϕ

 / ° 

uUL 

ψ0 = 40° 

ψ
 / ° 

ϕ
 / ° 

nicht maßstabsgerecht! 

 
 
 

      Forderungskatalog  
 

GST ψ W0 ψ W1 ψ W2 Bemerkungen  

1 
      untere UL 

ÜF(0) transformiert 
2       obere UL 

3       
. 
. 
. 

 
     

10       

 

 
 
          

      

y

x

ϕ

A

B

A0 B0

ψL2

L3

L4

 

TU Dresden 
Maschinenwesen 
Festkörpermechanik 
 

Totlagen 
 

Ausgangsgetriebe 
 

Abmessungen nach Schema  
Antriebsgrößen 
 

ϕϕϕϕ
 
1,a  =   90° = ϕanf 

ϕϕϕϕ
 
2,a  = 

ϕϕϕϕ
 
3,a  = 

ϕϕϕϕ
 
4,a  = 

ϕϕϕϕ
 
5,a  = 

ϕϕϕϕ
 
6,a  = 250° 

ϕϕϕϕ
 
7,a  = 

ϕϕϕϕ
 
8,a  = 

ϕϕϕϕ
 
9,a  = 

ϕϕϕϕ
 
10,a = 

Variablenvektor 
 

4-dimensionaler Vektor 
Zuordnung 
 

X 
[1] = L3 

X 
[2] = L4 

X 
[3] = L2 

X 
[4] = ϕanf 

 

  µmin   ≥≥≥≥ 30° 

M = 1 : 2 

    APPROX für Windows 
     Prof.Dr.-Ing.habil. H. Strauchmann 

 

  Synthesebeispiel 3 
 


